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Instructions for Students: 1) Use of non-programmable calculator is allowed
2)All questions are compulsory

Marks COs
Q1 Choose the correct Alternative for each of following questions. 16
a) Ifthe equation M dx + N dy =0 is homogeneous and 02 COl
Mx + Ny#Othen IF=.....
, 1 - o S(x)ax . S (y)dy
i ii iii) |e iv) |e
- Pimeny ! )}
) For the differential equation (D3 +3D* +3D+ I)y =g 02 Co2
Particular integral (P.I) is =-=-=---
) £ i 5 - - A ) x*
i) —e ii) —e ill) —e iv) —e
6 - 2 :
c) 1 s 02 ©02
'53— (il .
N i iy L
6 8 5 8
d) dc dy dz 02 CO3
The values of P,Q &R in simultaneous equation ~—=-—=—
P O R
represents -------
i) d.r.s of tangent to the curve  ii) d.r.s of any line
iii) d.c.s of any line iv) d.r.s of normal to the curve
¢)  The total differential equation Pdx+ Qdy + Rdz=0is 02 CO4
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Q2

Q3

Q4

)

g)

h)

a)

b)

- &
integrableif | P @ R|=——————
LR
ox Oy 0Oz|
i) 1 ii) PQR ii1) 0 iv) -1
. 5.3 2 ) ou cu
If u =log(x by =X y—¥ x) (HEH e i =
ox
L o it s g, B
el iil) — iv)
X Y X+ ¥ X+y X+ y

The differential equation obtained from the relation
z=(x+a)(y+b) e

i) z=2pg i) z= pg’ ii)z=p’q iv)z=pg

For the partial differential equation g = 2yp’ solution is------
hz=ax+ay+c i) z=ax+ay’ +c¢

2 . 2
111)2:\/;A'+ay’+c ) z=ax +ay+c

Solve any two of the following questions.

dy ,
Solis L= 2y +3e’

dx
Show that the necessary and sutficient condition for
P} |
’ . oM ©ON
M dx + N dy=0is to be exactis — =——
3y o&x

Solve (.\‘.2 +y' + l)dx —2xydy =0

Solve any two of the following questions.

Prove that ————sinax = — sinax

1
R o

dy _d
Solve 7%’_ o HL g 6y=e"

dx” dx
!l

Solve 6 ’Y +dl—2y:2,r
dx’ :

Solve any two of the following questions.

02

02

14
07

07

07

14
07

07

07

14
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CO6

CO6

COl

COl1

COl

COo2

Co2
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Q6

b)

c)

a)

dc dy dz
Splve —=—=—
Yz zx Xy
d dz
Solve S -
mz—-ny nx-—Iz Ily-mx
dx dy dz
Solve — — ==

X—yz Yy -zx Z-xy

Solve any two of the following questions.
Prove that the necessary and sufficient condition of integrability
of Pdx+Qdy+ Rdz=0

Solve (yz +2x)dx +(zx—2z)dy +(xy—2y)dz =0
Solve (x = y)dx —xdy +zdz =0

Solve any two of the following questions.
| 7

/3 /9 ~
- ] TR R du cu it
If 4y =cosec I __LL_)__M prove that x——= 4+ y== = ——_tanu
VY dx "~ oy 12
x/3 4+ /3 Y

o,

If x=¢'secu,y=e tanu then show that JJ'=1

) ~ 2
o~u _ 0%u

If # = X" then prove that —
Oxdy Oyox

Solve any two of the following questions.
Form the partial differential equation by eliminating arbitrary

function gé( uv)=0 where uand v are functions of x, y & z
Solve px +qy = pq by using Charpit’s Method
Find the complete integral of p" +q = 3pgz

Hokeokosk e ek ok
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